Week Commencing: 29.6.20

Year Group: Year 5

This week's planning will be recapping previous learning from earlier this year. The idea behind this is to consolidates cimittbrstanding of key concept:
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while others will still need to practise thenthis week, there are no specific fluency, reasoning and problemsalingi vi t i es as thi s
problems.
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earning questionsbased on a real

tables? tables? tables? o Test
life timetable?
Activity  |Starter— Times Table Rockstars|Starter— Times Table Rockstars|Starter— Times Table Starter— Times Table Starter— Times

I n today’' s | es|
be looking at tables and answer
questions about them, Watch th
video from White Rose.
https://vimeo.com/430336159

Activity

Look at the four different tables
and answer the questions about
them.You may need some scraj
paper to work out some
calalations.

This lesson is similar to
yesterday’ s. H
are going to be looking at tables
which aretwo way, meaning the
table has two parts to read. It is
not too much more difficult than
yesterday, but you have to read
the tables carefully. Watch the
video and complete the example
https://vimeo.com/430336386

Activity
Look atthe three different tables

Rockstars

[This lesson is about

timetables. A timetable is a
table or a chart that tells yol
a schedule. Usually, it
includes times that a train,
plane, bs etc will depart. Iti
an important life skill to be
able to read a timetable.
\Watch this video from BBC
Bitesize to explain the
concept.
https://www.bbc.co.uk/teach

and answer the questions aboul
them. Again, you may neesbme

scrap papeto work out some of
the answers.

classclipsvideo/mathsks2

usingtimetables/zn2hy9q

Activity
Answer the questions base(
on the two time tables.

Rockstars

Thursday’' s |
t o y e s.tHewewkra Y|
today, you are going to be
answering questions abou
real life bus timetable from
an area of the Lake Distric
Study the timetable carefu
before answering the
questions.

Activity

Answer the questions abo
the Lake District bus
timetabk.

TableRockstarsac
tivities

Complete the
arithmetic test.
'You may want to
complete this on ¢
scrap piece of
paper as there are
lots of pages to
print out.

The answers are
included at the
end.
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https://ttrockstars.com/
https://vimeo.com/430336159
https://vimeo.com/430336386
https://www.bbc.co.uk/teach/class-clips-video/maths-ks2-using-timetables/zn2hy9q
https://www.bbc.co.uk/teach/class-clips-video/maths-ks2-using-timetables/zn2hy9q
https://www.bbc.co.uk/teach/class-clips-video/maths-ks2-using-timetables/zn2hy9q

Monday Worksheet The table shows the average summer temperature for

different cities.

The table shows the weight of five dogs, to the nearest kilogram.

; City London [Edinburgh| Paris | Madrid | Rome Berlin
Name of dog Weight
Buster 12 kg I,,"":Tperm“re 21 25 31 30 22
Misty 26 kg
Titch 14 kg
y a) What is the average summer temperature in Paris?
enry
Patch b) Which city has the warmest average temperature during
a) What is the total weight of Buster and Titch? the summer?

b) Henry is 10 kg heavier than Misty.

Write Henry's weight in the table.
summer temperature?

c) Patch is heavier that Titch but weighs less than Misty.

c¢) What is the difference in average temperature
between Berlin and Edinburgh?

d) Which two cities have a difference of just one degree in average

Write the dogs names in order of weight, starting with
the lightest.

The table shows the number of ice creams sold in a shop last week.

Day Mon | Tue | Wed | Thur Fri Sat Sun
Ice creams

15 27 13 19 2 46 38
sold

The shop sold maore
ice creams in total on Saturday
and Sunday than during the
rest of the week.

0o

Do you agree with Alex?

Explain your reasons.

o Teachers asked children how they travel to school.

The tables show how the children in Year 4 and Year 5 travel

to school.
Year 4 Year 5
Method . Method X
Woalk| Bike | Car | Bus Walk| Bike | Car | Bus

of travel of travel
Number Number

] 181 |10 0 ) 17 | 3 7 1
of children of children

a) What is the most common method of travel in both year groups?

b) How many more children travel by car in Year 4 than
in Year 57

¢) Which year has the most children?




Monday Answers

The table shows the weight of five dogs, to the nearest kilogram.

Name of dog Weight
Buster 12 kg
Misty 26 kg
Titch 14 kg
Henry 36 ko
Patch

a) What is the total weight of Buster and Titch?

b) Henry is 10 kg heavier than Misty.
Write Henry's weight in the table.

c) Patch is heavier that Titch but weighs less than Misty.

The table shows the average summer temperature for
different cities.

City London | Edinburgh| Paris | Madrid | Rome Berlin
Temperature
21 15 25 31 30 22

Q)
a) What is the average summer temperature in Paris? 158(',
b) Which city has the warmest average temperature during

the summer? Maduid
) What is the difference in average temperature

between Berlin and Edinburgh? _1"’(_

d) Which two cities have a difference of just one degree in average
summer temperature?

Write the dogs names in order of weight, starting with Loorery & Berts'n or Qowm 8 Modael
the lightest. '
Buster, Tikon,_  Poken Mts‘t\j ‘ Hmr:j Year 4 Year 5
Method Method
fet ° | |Walk| Bike | car | Bus | | © | |Walk| Bike | car | Bus
The table shows the number of ice creams sold in a shop last week. or trave ot trave
Number Number
Day Mon | Tue | Wed | Thur Fri Sat Sun of children 18 1 10 0 of children 7 3 7 1
lce creams
15 27 13 19 2 46 38
sold a) What is the most common method of travel in both year groups?

The shop sold more

rest of the week.

Do you agree with Alex? _ves

ice creams in total on Saturday
and Sunday than during the

@

Walle

b) How many more children travel by car in Year 4 than

in Year 57

¢) Which year has the most children?

Yeor L




Tuesday Worksheet

The table below shows the distance in miles between some cities.

The table shows information about some of the world's

tallest buildings.

London
3,459 New York
5,938 6,736 Tokyo
6,011 7,803 9,152 Cape Town
10,553 9,929 7,819 6,845 Sydney

a) What is the distance between Sydney and Tokyo?

b) Which two cities are the furthest apart?

Breaststroke

Backstroke

Butterfly

Freestyle

- : Number of Year
Building Country Height (m) floors completed
Burj Khalifa UAE 828 163 2010
Shanghai Tower China 632 128 2015
Abraj AlBait |, i Arabia| 601 120 2012
Clock Tower
Ping An Finance china 599 115 2017
Centre
Goldin Finance ching 597 128 2019

117

Yellow

405

210

3495

Red

650

650

Green

210

Blue

Total

Work out the missing scores and complete the table.

a) How tall is the tallest building?

b) Which building is 601 m tall?

¢) Which two buildings have the same number of floors?

d) Which building was completed most recently?

e) How much taller is the Burj Khalifa than the Goldin Finance
117 building?




Tuesday Answers

The table below shows the distance in miles between some cities.

London
3,459 Mew York
5,938 6,736 Tokyo
6,011 7,803 9,152 Cape Town
10,553 9,929 7,819 6,845 Sydney
a) What is the distance between Sydney and Tokyo? 7,319

b) Which two cities are the furthest apart?

London,

Breaststroke

Backstroke

Butterfly

and 5%;:@3%

Freestyle

Yellow

405

A0

210

3495

Red

650

420

210

650

Green

210

500

3316

Blue

us

210

510

Total

1,610

2,040

1,925

A . Number of Year
Building Country Height (m) floors completed
Burj Khalifa UAE 828 163 2010
Shanghai Tower China 632 128 2015
Abraj Al-Bait ¢ i Arabia| 601 120 2012
Clock Tower
Fing An Finance | 5, 599 115 2017
Centre
G"'d": f;“““ce Ching 597 128 2019
a) How tall is the tallest building? BB v

b) Which building is 601 m tall? _Alorel BL- Bout Clece Towes

¢) Which two buildings have the same number of floors?

5\’\01'1%?\0-»; Tower & Godin Finance |3

d) Which building was completed most recently? Goldan Finonce I17

e) How much taller is the Burj Khalifa than the Goldin Finance
117 building?

231 m




\

Nednesday Worksheet

a)

b)

o

d)

Leeds

Wakefield

Doncaster

Grantham

Peterborough

Stevenage

London

What time does the 12:45 from Leeds arrive

in London?

How long does the 13:58 train from Wakefield take to get
to London?

At which stotions does the 14:15 train stop?

How long does it take to get from Grantham to Stevenage?

i you arrive in Grantham at 13:30, how long will you need to
wait before the next train to London?

High Street

Libbrary

Willow Park

Bank Rood

Shop-A-Lot
Centre

a) Dexter misses the 09:15 bus by 3 minutes.
He needs to be ot Bank Road by 10:30

Is he still able to maoke it?

Explain your answer.

b) Annie cotches the 10:10 bus.
What time does she arrive at the Shop-A-Lot Centre?
£) Teddy says he never has to wait more than 20 minutes for o bus.

Is this true?

Explain your answer.




Wednesday Answers

a) Dexter misses the 09:15 bus by 3 minutes.
a) What time does the 12:45 from Leeds arrive
in London? SO |

He needs to be at Bank Road by 10:30

. ) i it? g
b) How long does the 13:58 train from Wakefield take to get Is he still able to make it? 4 2

to London? Explain your answer.

2 hours Dmins He can %Le,t bve 09:35 hus ond

¢) At which stations does the 14:15 train stop? oS NN ok \ ) : Q5

mm‘g_}wdd" DO«:"‘LCQ_,E'I;_U} C‘J\\"O\I\ﬂﬁmj

b) Annie catches the 10:10 bus.
\ ) ]\_ d(_.,"\"“\
S hew J on o0

What time does she arrive at the Shop-A-Lot Centre? _“—

d) How long does it take to get from Grantham to Stevenage?

¢) Teddy says he never has to wait more than 20 minutes for a bus.

Lb muns

Is this true? _25

e) If you arrive in Grantham at 13:30, how long will you need to

Explain your answer.
wait before the next train to London?

Lonoe st waik bine (s 1% _mins,

E\% NS




Thursday Workshee{part 1)

Mondays to Saturdays except public holidays

M-F
Penrith rail station 06:45 09:20 11.20 13.20 15.20 17.35
Penrith bus station stand 1 06:51 09:32 11.32 13.32 1532 17.45
Eamont Bridge 06:59 09:40 11:40 13:40 15:40 17.53
Yanwath cottages 07:01 09:42 11:42 13:42 15:42 17.55
Tirrill a7v.03 09:44 11:44 13:44 15:44 17.57
Pooley Bridge Crown Hotel 07:09 09:50 11:50 13:50 15:50 18.03
Gowbarrow cottages 07:16 09:57 11:57 13:57 15:57 18.10
Park Brow (Aira Force) 07:23 10:04 12:04 14:04 16:04 18.17
Glenridding Greenside Road 07:30 10.11 12:11 14:11 16:11 18.28
Patterdale Hotel 07:35 10.16 12:16 14:16 16:16 18.33
Brotherswater 10.23 12:23 14:23 16:23 18.40
Kirkstone Pass Inn 10.36 12:36 14:36 16:36 18.53
Troutbeck Queen's Head 10.45 12:45 14:45 16:45 19.02
Rayrigg Road 10.54 12:54 14:54 14:54 19.11
Bowness Ferry Pier 10.59 12:59 14:59 16:59 19.16
Windermere rail station 11.09 13.09 15.09 17.09 19.26
Kendal Sandes Avenue 19.44




Hiromi lives in Eamont Bridge and wants to be in Troutbeck
for 3pm on Tuesday. What is the latest time he could catch
the bus in Eamont Bridge?

How long does it take the bus to get from Greenside Road
in Glenridding to the Patterdale Hotel?

It takes Megan 5 minutes to walk from her house to the
nearest bus stop, which is in Yanwath. She is planning
a trip to Bowness. She wants to spend at least 2 hours
shopping in Bowness and to be ready for 6pm to catch a bus
back. What is the latest time that she should leave home in
order to do this?

. Candy-May travels on the bus from Brotherswater to
Windermere. The bus runs on time. Every time the bus
stops, she eats a jelly bean, including the stops where she
gets on and off. Every time the number of minutes on her
digital watch is a multiple of 5, she eats a chocolate button.
How many of each does she eat? Does it depend on which
bus she takes?

. There is only one bus which goes from Penrith rail station
to Sandes Avenue in Kendal. How long does this bus
journey take?

6. Which consecutive stops have the shortest journey time

between them?

. Otherthan Windermere and Kendal, which two consecutive

stops have the longest journey between them?

If Bart arrives at Penrith bus station between 6am and
5pm on a Saturday, what is the longest he could have to
wait for the next bus, assuming that it is running on time?

Thursday Worksheet (part 2)



1. Hiromi lives in Eamont Bridge and wants to be in Troutbeck for 3pm on Tuesday. What is the
latest time he could catch the bus in Eamont Bridge?

13.40
2. How long does it take the bus to get from the Greenside Road in Glenridding to the Patterdale Hotel?
5 minutes

3. It takes Megan 5 minutes to walk from her house to the nearest bus stop, which is in Yanwath.
She is planning a trip to Bowness. She wants to spend at least 2 hours shopping in Bowness and
to be ready for 6pm to catch a bus back. What is the latest time that she should leave home in
order to do this?

13.37

4. Candy-May travels on the bus from Brotherswater to Windermere. The bus runs on time. Every
time the bus stops, she eats a jelly bean, including the stops where she gets on and off. Every time
the number of minutes on her digital watch is a multiple of 5, she eats a chocolate button. How
many of each does she eat? Does it depend on which bus she takes?

She eats & jelly beans.
She eats 9 chocolate buttons on all but the last bus; she eats 10 chocolate buttons on the 18:40 bus.

5. There is only one bus which goes from Penrith rail station to Sandes Avenue in Kendal. How
long does this bus journey take?

2 hours 9 minutes
6. Which consecutive stops have the shortest journey time between them?

Eamont Bridge to Yanwath Cottages - 2 minutes
Or Yanwath Cottages to Tirril = 2 minutes

7. Other than Windermere and Kendal, which two consecutive stops have the longest journey
between them?

Brotherswater and Kirkstone Pass Inn - 13 minutes

8. If Bart arrives at Penrith bus station between 6am and 5pm on a Saturday, what is the longest
he could have to wait for the next bus, assuming that it is running on time?

3 hours and 32 minutes - if Bart arrives at exactly 06:00, the next bus is at 09:32 (3 hours and
32 minutes later). Thursday Answers



